Aerial Cam Unit

- B-UCMSC/ B-UCMSF -

\
B - UCMSC50 ( 00° ~70° )
10+0.08 220+0.02
2—¢13H7
B8 (& — o — &
SO o Hl
= N S o~
63 20H7
100+0.05 4-9411-¢17.5
20 (Tolerances are from key groove.) 200

e

(@

6.3

200

@]

6.3

150 4-¢11-4175

20 110
6.3

6.3

=

(3]

—

D 0

— [=) 2T, ; (=}

=] R e ' C{
i S le}

s © o)

— B SC and 2-¢13H7

10+0.05 130+0.02
WC Option

B AT oo oo
Email : mk@asianadvanced.co.th



Aerial Cam Unit

- B-UCSC/ B-UCMSF -

w 0 S A B C D E F
0 30.20 225.00 77.50 122.50 45.00 -107 118.00
) 30.50 226.91 78.33 121.67 51.40 -100 126.91
10 30.30 223.72 79.93 120.07 57.60 -90 133.72
15 30.50 224.36 82.29 117.71 63.60 -85 139.36
20 30.40 220.76 85.39 114.61 69.10 -70 150.76
25 30.00 215.85 89.22 110.78 74.40 -58 157.85
30 32.60 213.58 94.73 105.27 78.20 -565 158.58
B-UCMSC50 35 35.40 204.89 96.90 103.10 85.50 -35 169.89
40 38.60 206.72 102.69 97.31 89.40 -30 176.72
45 42.30 202.01 103.06 96.94 98.70 -20 182.01
50 46.70 195.73 105.94 94.06 105.50 -10 185.73
55 52.10 189.83 116.30 83.70 104.80 0 189.83
60 59.10 179.27 125.08 74.92 105.50 15 194.27
65 58.90 176.60 126.87 73.13 106.50 32 208.60
70 57.60 177.00 135.83 64.17 107.00 38 215.00

Table of Components

No. Description Qty | Material and Remark
(1) | Cam Holder 1 | QT500
(2 | cam Slider 1 | QT500
@ Wear Plate 1 | Bronze
(@) | cam Driver 1 | QT500
(5) | Guide Bar 1|45
@ Positive Return Follower | 2 | 45
@ Cam Slide Guide 1 | Bronze
Spring Block 1 | Q235
Coil Spring 1
@ Stopper 2 | 210x10
@ Dowel Pin with Female Thread | 3 | @8 x 30
Hexagon Socket Brazier Head Bolt | 1 | LCS-8-18
Hexagon Socket Brazier Head Bolt | 4 | M 8 x 20
@ Hexagon Socket Brazier Head Bolt | 2 | M 8 x 30 "é
Hexagon Socket Brazier Head Bolt | 2 | M 10 x 30 =
Hexagon Socket Brazier Head Bolt | 1 | M 10 x 35 §
S
Option Code Specification s
The mount surface is extended forward in =
SC the range of 10 to 60 mm (at increments
of 10 mm).
WC The mount width is changed to 65.
Order No :
Catalog No. | | w) | - | (0) |
B - UCMSC 50 70

rooroweozcowons AT I
Email : mk@asianadvanced.co.th

AAAAAAAAAAAAAAAAAAAAAAAA




Aerial Cam Unit

- B-UCMSC/ B-UCMSF -

Working Force kN(tonf)

Spring Force N (kgf)

CatalogNo. | (W) | (g) Trasvel Standard Allowable TotalllNelght
Working Working | |nitial Load | Final Load g
Force Force
(one million strokes) | (300,000 strokes)
00 | 302 (56868) 12.7
05 | 305 (113;1762) 123
2156 980.0
EUNC (22.0) (100.0)
11.8
15 | 305 (33-8)
20 30.4 (11771 55) 115
25 | 300 1.3
30 | 326 11.1
B-UCMSC | 50 | 35 | 354 (12966) (32962)
10.9
40 38.6 638
(16.7)
45 | 423 i
(100.1) s
50 | 467
55 | 52.1 10.8
- 60 | 59.1 11.2
@
=) 65 | 58.3 299.8 16
s
= 226.8
= 70 | 576 23.1) 12.0
-
=l

'ASIAN ADVANGED TECHNICA GO, LTD.

ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th



‘=
—
=
o
S
'
"
@
=

UCMSC/ B-UCMISF -

Cam Diagram

Hun wey jeLay

_m>E | sseld
€0¢

ﬁmm

T
[oARl] SS8Id

e

S L'0v

Ooﬂ\

oQ«
_®>m\_._. SSold

I

9049

™= P o S N
ISR 2 &L @ o>
S /8 W L f 519
o o < o )»&L ° \me_@/
o o o )
N < Lo N~
ov °0g
oABl] $S8) oABI] SSB)
oL ssed |oAel] sseld ! w.wm d Jenei] sseld
L'€e Tlliw_N \ G'8v
° [to)
= v/ 8 2\
| TE < e < L 3
X @ S e 21
o o o < ° ey
o Lo o Lo
N ™ Lo (<]
el
R e Al oGP
° aAel| ss8l
oABI| SS8ld onel SSaig _ _ m+Nm d >m¢©WmEn_
9€ | G9¢
/ 98¢ / _
o © o
ol ? of= () o I
O S /2 @ o7@ 2 0
@ ¢ 9 & e 7 2%
] o o o ON o \Q@
o Lo (@] Lo o
o — ™ < ©

ASIAN ADVANGED TEGHNICA GO, LTD.

ADDTTIONALE DIE COMPONENTS

Email : mk@asianadvanced.co.th



Aerial Cam Unit

- B-UCMSC/ B-UCMSF -

Spring Diagram

00° 0h° 10°
980.0 980.0 980.0
(100.0) 100.0) (100.0)
8271 oo 8428 |°II- 854.6 [T
(84.4) (86.0) (87.2)
588 | ________ 1872 || 2166 | ________
6.0 y (14.0) 5 (22.0) v
Leng\ha/lhna Loag 75| | 7.8(Punch Return: 5 mm) Lenglhg/\Fma\ Led 75| | 7.0(Punch Return: 5 mm) Length at Final Load 5| | _6.4(Punch Return: 5 mm)
L ength at Initial Load 122_] nitial Deflection 3 | ength at Initial Load 1‘\8_] nitial Deflection 7 Length at Initial Load 114_[ Initial Deflection 11
=T =T
Free Length 125 Free Length 125 Free Length 126
[TL27-125] [TL27-125] [TL27-125]
15° 20° 25°
980.0 980.0 982.8
(100.0) (100.0) 100.1)
835.5 847.7 Jrrrrooooc 8463 " oo
(85.3) (86.5) (86.2)
980 | _______] _ 1m7is 1638 | ________]
(10.0) v (17.5) v (16.7) v
Length at Final Load 60 5.9(Punch Return: 5 mm) Lengtha/tFma\ Load 60: 5.4(Punch Return: 5 mm) Length at Final Load 54 5.0(Punch Return: 5 mm)
Length at Initial Load 96 _l Initial Deflection 4 Length at Initial Load 93 _l Initial Deflection 7 Length at Initial Load 84 Jnitial Deflection 6
=T =T =
Free Length 100 Free Length 100 Free Length 90
[ TL27-100] [ TL27-100] [TL27-90]
30° 35° 40°
982.8 982.8 982.8
100.1) (100.1) (100.1)
867.2 868.1 """ 77 8763 - oooooIs
(87.3) (88.4) (89.2)
1638 | ________|] L 1638 | _______] 1638 | _______]
(16.7) / (16.7) v (16.7) v
Lengthé/lFma\ Load 54 4.6(Punch Return: 5 mm) LengthallFma\ Load 54 4.2(Punch Retumn: 5 mm) Length t Final Load 54 3.9(Punch ﬁeturr‘v: 5 mm)
Length at Initial Load 84 _l nitial Deflection 6 Length at Initial Load 84 _l Initial Deflection 6 Length at Initial Load 34_] nitial Deflection 6
=T
Free Length 90 B Free Length 90 Free Length 90
[ TL27-90] [TL27-90] [TL27-90]
45° 50° 55°
982.8 982.8 982.8
(100.1) (100.1) (100.1)
887.3 89564 Tt 903.6 ool
= (90.4) 91.2) (92.0)
(1-] 1638 | . i 1638 | ] 1638 | .
= (16.7) / 16.7) p 16.7) /
[=*] Length s/'.Fma Loed5t| | 3.5(Punch Return: 5 mm) Leng(ha’tﬁna\ Loasst] | 3.2(Punch Return: 5 mm) Length at Final Load 54} 2.9(Punch Return: 5 mm)
() Length at Initial Load 84 |nitial Deflection 6 Length at Initial Load 84_] |nitial Deflection 6 Length at Initial Load 34_] Initial Deflection 6
il
{\) Free Length 90 Free Length 90 Free Length 90
g [ TL27-90] [TL27-90] [TL27-90]
—1
= 60° 65° 70°
982.8 982.8 982.8
(100.1) (100.1) 100.1)
914.6 925.5 918.5
(93.1) (94.2) (93.6)
1638 | _______| | 1638 | _____ 2268 | ________] _
(16.7) /// (16.7) // (23.1) m
Lengma/\F\na Load 54 2.5(Punch Return: 5 mm) Length &t Final Load 54, 2.1(Punch Beturn: 5 mm) Lenglh/a/IFma\ Load 39 1.7(Punch Return: 5 mm)
Length at Initial Load 84 |nitial Deflection 6 Length at Initial Load 84_] |nitial Deflection 6 Length at Initial Load 59 _l |nitial Deflection 6
Ll
Free Length 90 Free Length 90 Free Length 65
[TL27-90] [TL27-90] [TL27-65]

B T AT oo covore

Email : mk@asianadvanced.co.th

'ASIAN ADVANGED TECHNICA GO, LTD.



